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.3 H. stry-I ~ Second Paper - M. M. 50
| ;qma;fl.?%f@m;r%w@ﬁhzﬁéﬂﬂﬁmwwwm_@m% ? What
IS the ertectot an electron withdrawing group on the stability of ion ?

2. SR ST 1 ey & ? Wha% i forﬁlal charge ? ol _pier

3. RIS THTEGET F d'q ' Y o ey e |

What do you understand by 'd'and 'I' in optical isomerism ?

4.2-59EM % E TU1 Z St aoiegd) g | |

Draw the E and Z geometrical isomers.of 2-Buterie.

5. 90 & FAlRH16T0T § JEd SedTs 77 <=iell & ol a4f ¢

What is the main product formed by chlerinatiefvof propane and why ?-

6. Sied-Ucs T AR 7 fehdl T S8 thet &1 BarsY & | o

Give one example of any dienophilein Diel's Alder Reaction.

7. 91 BIA & ST o1 i el G- e wrepnar 7 arfiean e 2 2

W hat happens when benzeneredets with chlorine in sunlight ?

8. TG | Seteree Tl Ufereior TRt & IR et Searg oy B € 2
72 fefg ot S | How, many products are obtained when electrophilic
substitution is done in naphthalene ? Give their position also.

9.D.D.T. &l YA g/ Draw the structure of D.D.T.

(0. @7 Ufie Belss, drsid oarse o Ui gags & SN, srfufmamet & ufy
Il ERIEIN] 2% Are aryl halides more reactive than vinyl halide and allyl

e towards, SN, reactions ? -
g 1. 1. (1) el 41 Bid & 7 Whatare Carbenes ? ’
G IRl Zreheh - T 3T THAC | Explain the difference

halid
qer «
(ii) Thh

Scanned by CamScanner



B. Sc. (Part-T), Chemistry, 2015/ 17

between singlet carbene and triplet carbene. 91 / OR

> Fsferfia ot qot Sitefi e S |

Determine the complete formal charge of the following :

() CH,—N=C (i): op, (i) NH®, A |
s 1.3, e el @ o N G € 7 SECT SRt e | What
do you understand by diastereo isomers ? Explain with an example. 3rgar/OR

4. (i) aTgeRm e o) g 3 ? Whatis sequencerule?

(ii) Fr=1 & R qem S A& Hiv:Give theRand S nomenclature of the following:
COOH COOH '

H—‘JE—‘OH H,C—;L——NHE
H,

= 1015, QM @ ave geed | 3 FE wEaar aia & 7 Explain the
structure of allenes. What isomerism is shown by them? . agar /OR
6. Fal-a= (Banana-bond) T4 IS T I a0 B | '
Describe banana bond and alsoits stability. ,
sﬁuém7.(i)zr@§aesrmamwa—aﬁﬂaﬁeﬁaﬂam=ﬁﬁmﬂam% ?
Why is nitration of Toluene easier than benzene?

(i) o=t ® I A ¥ ol #f ?Which is aromatic and why of the following:
o o ‘
O o ik B R T A e R i p e SRS LEIERY
Explain the aromaticity of naphthalene by any two reactions.
ﬁrévs.ﬁsrrauﬁ?q’aﬁm@wwﬁ% ? IS AT THAEY |What do you
understand by regioselectivity ? Explain with an example. 3tgar /OR

10.%@@@,%%@%%@%&%%%@
#ifsa. | Compare the order of reactivity of Methyl chloride, Vinyl

“hloride and AllyIchloride.

qr-a-1 “frrer g e feaqof} forflgw @ Write short notes on the following :

(i)’ﬂﬁT{B =el e arfafaar Nucleophilic addition reaction

RLESIEERUIES Peroxide effect .
(i) e 9T (qeaelh) F) T qAr AT A A fafer 1 Structure of
aryne (benzyne) intermediate and any one method of preparation.

5 foe 1 @weEy : Explainthe following :

(i) e gHraddl Conformational isomerism

(i) AR % fafa=T qET qe e

Different conformations of Cyclohexane and their stability.(iii)
AR & orel O T |

Axial and equatorial bonds incyclohexane.

3. (i)n-geA @ |, 3-geTéH [ ST AT Efefl & ?

How is 1.3-Butadiene obtained from n-butane ?

-~
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(i) 1, 3-F2TeRA & oo art (HCI a1 HBr) & STffehar &t Rrafafy &y
EEEEl E{-‘;Iiﬁlq | Discuss the mechanism of the reaction of a halogen acid (HC]

or HBl)Wlthl 3-butadiene. -
(lll)m STe 1 U% ITAINIET E™T | Give one application ofa conjugated dienc.
4. ﬁ-’l":r Eﬁ ‘{f’f HINTT : Complete the followmg

etk

A

(ii)2 +2Cu

Con. H,SO,,

(iii) 40°C
| +HCHO +HCI >
i, NH,
@)C) CHOH”
V,0,
(vi) O + O, ——+A :

5..4941sT : Explain

(n)&%ﬁ%ﬂgﬁﬂw%mmmw IR 3Thied i’%%‘@ﬁﬂ@mﬁ@%‘cﬁ

ST % HTT T S & | Alkyl halides when reacted with aqueous alkali give
alcohol but with alcoholic alkali give alkene.

(i) ARt Yarse @ =1 &4 url 87 ? Howare the following obtained from
aryl halide : (37) fopetet Phenol () Qﬁiﬁ? Amlme (H)aﬁﬁ:r Benzene.
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